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YEAR 11 PRELIMINARY ASSESSMENT

TASK 1

March 2012

TOPICS TESTED:- Basic Arithmetic, Algebra,
Surds, Indices, Equations

General Instructions

¢ Reading Time — 5 minutes Q1

o Working Time — 60 Minutes

. Q2
s Start each question on a new
page.
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TOTAL




Question 1 (8 marks)
(a) Express 1.26 as a fraction in simplest form.

2
(b} Evaluate Jﬂ correct to 3 significant figures.
18.927

—43%107 +1.7x107

(6.7x10°)
to 3 significant figures

. Express your answer in scientific notation

(c) Evaluate

(d)  Simplify 12-2]5-8]x3
Question 2 (11 marks)
(a) Factorise fully m® —n* +5m—>5n
o) Solve -2 2x+1_,
4 8

(¢} Simplify ”;H - ”;_1

' x"—-x x“+x
(d)  Factorise completely 2x® —128
(e}  Factorise fully a® +12ac —28¢*
Question 3 (8 marks)
(a)  Simplify V75 +448 -12

V5 +1

(b)  Express with a rational denominator 2./ 13

{c) Find integers a and b such that (3 —«/5)2 =a—by2

(d) Form a pair of simultaneous equations and solve them to find x and y

6++fx—y =x+y+\/ﬁ



Question 4 (10 marks)

(a)

(b)

(c)

(d)

2

Find the exact value of

16
Simplify ——
p f\[ 23x xsl—x

~i -1

Xty
x+y

Simplify

x—5+6x7"

Simplify o
—2x

Question 5 (17 marks)

(a)

(b)

(c)

(d)

(e)

(f)

Solve |2x—3| <5.
Solve |x+2|=2x—5.
Find the exact values of x if 2x* —4x+1=0

Solve the following simultaneous equations
i) x+y=5and x> +y* =25

i) 2x+y=4  and
S5x+2y=9

ifi) y=x>-3x+4 and y=2x-2
2x .
Solve —12< 3 <4 and graph on a number line

Solve (x—3) =25

END OF ASSESSMENT
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